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-1 3 -1
1. A=1-3 5 —1
-3 3 1
(4 7 —5]
2. A= -4 5 0
1 9 —4
4 2 —5
3. A= 16 4 —9
5 3 -7
1 1 1 1
1 1 -1 —1
4 A=
1 -1 1 -1
1 -1 -1 1

B 2. Cdn A M,(C) bR ES (R EHIT), f(A) BIEMES (i
Thit) R 22 LF f e CX] A4S AK.

8 3. & Ae M,(C) i#HZ tr(A%) =0, 14T 0 < k <n. 3E84 A" =0.
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Wi 4. % A Bc M,(R). %% P<c M,(C) 1#1% P~'AP = B, it A&
Q € M,(R) #%£43 Q~'AQ = B.

W5, 98 T C M,(C) &—2& s HEMmad s, WAIEM Th,T €
T, TWT» = ToTy. i€, T TAR T L= Ak, BPHE P € GL,(C), 143
AL T e T,P'TP & L= fA4El%E.

Wi 6. % A B e M,(C) %2 AB—BA— A, it¥ A, B A L4y4IE0%.
T, x, xe, 23, 24 € Ma(k), 1ERA

o [[z1,22)% 23] = 0;

o @1, xo)[ws, xa] + (21, T3] [22, 4] + [21, 24][22, 23] = 0.
x+ [X)Y]=XY -YX.

8. £ C" L2 IR AREHA

n—1

(@*y)k =Y @rjy;.

j=0
Kb k—j ZTAE n 493647, £ DFT ¥ 5RE AR, BF DFT(zxy), =
DFT(z)r - DFT(y)y. iX¥ % R K0y TR AR A 7 B9 130 B AR,
2 %

TR R, AT

W 9. i% chark =0, X,Y € My(k), £

&

tr(XXYXYY) = tr(X XYY XY).

B 10. £ n B ey s M,(C) EEMNTZEIN tr(AB) = tr(BA) 4o
det(AB) = det(BA). #iXF X AT A ELMG X T HHELEN S AX S
# f, %2 f(AB) = f(BA). #F A% 21X 47 5 oy F 3O i 1R 353 44
QN G QLI P R T LN



